

SOME FORMULAS FOR THE GENERALIZED
 LAGUERRE POLYNOMIALS*

S. K. Chatterjea

1. In a recent paper [1], we have defined the generalized Laguerre polynomials $T_{kn}^{(\alpha)}(x, p)$ by the Rodrigues' formula

$$(1.1) \quad T_{kn}^{(\alpha)}(x, p) = \frac{1}{n!} x^{-\alpha} e^{px^k} D^n (x^{\alpha+n} e^{-px^k}),$$

where k is a natural number. The polynomial $T_{kn}^{(\alpha)}(x, p)$ is of exactly degree kn . In [1, p. 186] we notice that

$$(1.2) \quad \binom{m+n}{m} T_{k(m+n)}^{(\alpha)}(x, p) = \sum_{r=0}^{\min(m, kn)} \frac{x^r}{r!} T_{k(m-r)}^{(\alpha+n+r)}(x, p) D^r T_{kn}^{(\alpha)}(x, p).$$

In an earlier work [2], we defined the polynomials $T_{kn}^{(\alpha)}(x)$ by the Rodrigues' formula

$$(1.3) \quad T_{kn}^{(\alpha)}(x) = \frac{1}{n!} x^{-\alpha} e^{x^k} D^n (x^{\alpha+n} e^{-x^k}).$$

Thus when $p=1$, $T_{kn}^{(\alpha)}(x, p) \equiv T_{kn}^{(\alpha)}(x)$. In fact, when $p=1$, we have

$$(1.4) \quad \binom{m+n}{m} T_{k(m+n)}^{(\alpha)}(x) = \sum_{r=0}^{\min(m, kn)} \frac{x^r}{r!} T_{k(m-r)}^{(\alpha+n+r)}(x) D^r T_{kn}^{(\alpha)}(x).$$

Subsequently in a paper [3] we have found operational derivation of the following results for $T_{kn}^{(\alpha)}(x, p)$:

$$(1.5) \quad \sum_{n=0}^{\infty} T_{kn}^{(\alpha)}(x, p) t^n = (1-t)^{-\alpha-1} e^{px^k} \{1-(1-t)^{-k}\}$$

$$(1.6) \quad \sum_{n=0}^{\infty} T_{kn}^{(\alpha-n)}(x, p) t^n = (1+t)^\alpha e^{px^k} \{1-(1+t)^k\}$$

$$(1.7) \quad \sum_{m=0}^{\infty} \binom{m+n}{m} T_{k(m+n)}^{(\alpha)}(x, p) t^m = (1-t)^{-\alpha-n-1} e^{px^k} \{1-(1-t)^{-k}\} T_{kn}^{(\alpha)}\left(\frac{x}{1-t}, p\right)$$

$$(1.8) \quad \sum_{n=0}^{\infty} \binom{m+n}{m} T_{k(m+n)}^{(\alpha-n)}(x, p) t^n = (1+t)^\alpha e^{px^k} \{1-(1+t)^k\} T_{km}^{(\alpha)}(x(1+t), p)$$

Here we shall show that the results (1.7) and (1.8) can be obtained by using (1.2) and the analogous formula (2.3), derived in the next section.

* Presented december 1, 1965 by D. S. Mitrinović.

2. First we shall derive (1.7) from (1.2). It follows from (1.2) that

$$\begin{aligned} \sum_{m=0}^{\infty} \binom{m+n}{n} T_{k(m+n)}^{(\alpha)}(x, p) t^m &= \sum_{r=0}^{kn} \frac{(xt)^r}{r!} D^r T_{kn}^{(\alpha)}(x, p) \sum_{m=0}^{\infty} T_{km}^{(\alpha+n+r)}(x, p) t^m \\ &= \sum_{r=0}^{kn} \frac{(xt)^r}{r!} D^r T_{kn}^{(\alpha)}(x, p) \cdot (1-t)^{-\alpha-n-r-1} e^{px^k \{1-(1-t)^{-k}\}} \\ &= (1-t)^{-\alpha-n-1} e^{px^k \{1-(1-t)^{-k}\}} \sum_{r=0}^{kn} \left(\frac{xt}{1-t}\right)^r \frac{1}{r!} D^r T_{kn}^{(\alpha)}(x, p). \end{aligned}$$

Now

$$T_{kn}^{(\alpha)}\left(\frac{x}{1-t}, p\right) = T_{kn}^{(\alpha)}\left(x + \frac{xt}{1-t}, p\right) = \sum_{r=0}^{kn} \left(\frac{xt}{1-t}\right)^r \frac{1}{r!} D^r T_{kn}^{(\alpha)}(x, p).$$

Thus we obtain

$$(2.1) \quad \sum_{m=0}^{\infty} \binom{m+n}{m} T_{k(m+n)}^{(\alpha)}(x, p) t^m = (1-t)^{-\alpha-n-1} e^{px^k \{1-(1-t)^{-k}\}} T_{kn}^{(\alpha)}\left(\frac{x}{1-t}, p\right),$$

which is (1.7). Conversely (2.1) implies (1.2).

Next to derive (1.8) we require an analogous formula of (1.2). It may be noted here that (1.2) is equivalent to the following formula:

$$(2.2) \quad \binom{m+n}{m} T_{k(m+n)}^{(\alpha)}(x, p) = \sum_{r=0}^{\min(n, km)} \frac{x^r}{r!} T_{k(n-r)}^{(\alpha+m+r)}(x, p) D^r T_{km}^{(\alpha)}(x, p).$$

Now we shall prove that

$$(2.3) \quad \binom{m+n}{m} T_{k(m+n)}^{(\alpha-n)}(x, p) = \sum_{r=0}^{\min(n, km)} \frac{x^r}{r!} T_{k(n-r)}^{(\alpha-n+r)}(x, p) D^r T_{km}^{(\alpha)}(x, p).$$

In proving (2.3) we make use of the result [1, p. 183]

$$(2.4) \quad \prod_{j=1}^n (xD - pkx^k + \alpha + j) Y = n! \sum_{r=0}^n \frac{x^r}{r!} T_{k(n-r)}^{(\alpha+r)}(x, p) D^r Y.$$

Thus we obtain

$$\begin{aligned} (m+n)! T_{k(m+n)}^{(\alpha-n)}(x, p) &= \prod_{j=1}^{m+n} (xD - pkx^k + \alpha - n + j) \cdot 1 \\ &= \prod_{j=1}^n (xD - pkx^k + \alpha - n + j) \prod_{i=1}^m (xD - pkx^k + \alpha + i) \cdot 1 \\ &= m! \prod_{j=1}^n (xD - pkx^k + \alpha - n + j) T_{km}^{(\alpha)}(x, p) \\ &= m! n! \sum_{r=0}^n \frac{x^r}{r!} T_{k(n-r)}^{(\alpha-n+r)}(x, p) D^r T_{km}^{(\alpha)}(x, p) \end{aligned}$$

which implies that

$$\binom{m+n}{m} T_{k(m+n)}^{(\alpha-n)}(x, p) = \sum_{r=0}^{\min(n, km)} \frac{x^r}{r!} T_{k(n-r)}^{(\alpha-n+r)} D^r T_{km}^{(\alpha)}(x, p).$$

Now we shall deduce (1.8) by using the formula (2.3).

We have

$$\begin{aligned} \sum_{n=0}^{\infty} \binom{m+n}{m} T_{k(m+n)}^{(\alpha-n)}(x, p) t^n &= \sum_{r=0}^{km} \frac{(xt)^r}{r!} D^r T_{km}^{(\alpha)}(x, p) \sum_{n=0}^{\infty} T_{kn}^{(\alpha-n)}(x, p) t^n \\ &= \sum_{r=0}^{km} \frac{(xt)^r}{r!} D^r T_{km}^{(\alpha)}(x, p) \cdot (1+t)^\alpha e^{px^k \{1-(1+t)^k\}}. \end{aligned}$$

But

$$T_{km}^{(\alpha)}(x(1+t), p) = T_{km}^{(\alpha)}(x+xt, p) = \sum_{r=0}^{km} \frac{(xt)^r}{r!} D^r T_{km}^{(\alpha)}(x, p).$$

Thus it follows that

$$(2.5) \quad \sum_{n=0}^{\infty} \binom{m+n}{m} T_{k(m+n)}^{(\alpha-n)}(x, p) t^n = (1+t)^\alpha e^{px^k \{1-(1+t)^k\}} T_{km}^{(\alpha)}(x(1+t), p),$$

which is (1.8). Conversely (2.5) implies (2.3).

REFERENCES

- [1] S. K. Chatterjea, *On a generalization of Laguerre polynomials*, Rend. Sem. Mat. Univ. Padova, Vol. 34 (1964), 180—190.
- [2] S. K. Chatterjea, *A generalization of Laguerre polynomials*, Collectanea Mathematica (Sem. Mat. Barcelona), Vol. 15 (1963), 285—292.
- [3] S. K. Chatterjea, *A note on generalized Laguerre polynomials*, communicated to Rend. Sem. Mat. Univ. Padova.